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BASIC AUTOMOBILE ENGINEERING

ffiaqrrq,fradtt 1srftr*,m 3itr: 7o

Time allorved : Three Hoursl [Maximum Marks : 70

th, o) YqqY?teMA, yiq'i A ffiqfu#rarrtffi t

Note:Questiott.\-o,1i'scont!.,rrlsotl',tlt.lsl.yel,ant.F|VEqttestiotls.fl"omtheremaining.

(ii 1 el6 sw t qfr ffi 67 v;qEn( qs st?t 7d frffi t

Solte all parts of o qttt'srion conseaiiveb' together

(iii) Yfia tw 67 4n 7u i xrw+ rtffi t

Start each questiott ott tt'cslt page'

(ir,)qfr'trr,ailerardT)frRtfrteita?eqatqrtqTalt
ottlt,,Etlglishversiotlisrulidincctseo|.cli.fJbrenceinboththelanguages.

1. trafufu-o ssit * ff\rt Tfr{ {m'
Answer the following questions in brief :

(i) trqt qiffi fr ft*1t{r 6T 3TT{FI

Meaning of Synchrotnesh in a gear box'

(ii) tr+re-*qdxuncr**u*1or r fu q{r$ I

Positive and negative caster angle' Drarv sketch'

(iii) i+nreff1Mr
Characteristics of brake fluid'

(ir,) 31Tffi8€ fr eqtrr d{ qrd q+"i qfd + mnr I

Aclvantages of disc wheel usecl in an autornobile'

(v) s'Rfrqftrs gffir t

Chassis overhang in car' 
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alq tft fiEEr sun€ft den ffi'or frtrqr vun-s il *.rq ftr+ qr) qT-e fufiT fti+q
+ W{ *rrrr{ Er+ tdfu* qrif + arc ftrfu+ r

Draw line diagra* !t steering linkage. used in rigid axle suspension system andindependent suspension system, also name its variius parts.
er{r if zri& sT En o"rd t i zrqt it 3TRrfr den q;rT qrg qrq * $rrdf si fr-x sTtrF{qrflEt 

r

what are the functions of tyre in vehicle ? Fxplain rvith sketch the effects of overand under inflation pressure in a tyre. (6+6)

fr-* q+r*r RR +{r tFK drffi ff qflez q anr{ fuqFd ftH r

Write construction atrd worki^ng principle of constant mesh gear box with sketch.
stA+rilE-d + ftr+ firqr qfrFdr-{nqdiEqf errq{.rm t i-tiqn* *d + sqt fu{rqrd firq( qMi rine-ift o1 sre fr.i Hfrd q-rsr$i 

r

an automobile ? Explain with
gear lever on the top of

(6+6)

(i)

(ii )

(i)

(ii)

J.

Why a gear shifting mechanism is essential fbr
simple sketch gear shifting mechanism, with
transmission case.

5.

system of a four wlieeler with the help of

? {q zr{{[ * qHq 6.re sr fu* v+r+-r rrqifua

what do you mean by pneumatic tyre ? Draw labelled cross-sectional
these tyres.

diagram of
(6+6)

I
I
I
I

4. (i) 3Tfuqle,Ht enqwrsErflet i rcq+{tmrdqq*sffirt ?

3rt"'tfieEm d rym ffi a lsR + {HrT qH 6T sr{ ft" q{rsr qrrflrg 
r

what do you mean by fi,al drive ? what functions does it perform ?
Explain with sketch, working of any two types of Universal joints used inautomobile.

(ii) q-Sq ns surr€ft fr frqqr s-r +n ut{q t z fteqq ff t{E €qg6} r f4q }*yunifrfiwqip,u.rqrfrfrM 
r

What is the purpo.se of bleeding in the hydraulic brake system ? Explain theprocedure of bleeding. Write the advantages of hydraulic brake ry.,* ui*. (6+6)

(i) tI*. 3TrgFss'n-qidtsrtsfid{silrrrurftgw rrrrrf +qrqfrH r

Draw a line diagram of modern car body and name its all the main components.(ii) 3tiztqjergof o"r c'ffe-rur H s{A t i <rtr"r tfi frRR t qqilEi
How automobiles are crassified ? Explain in detail with example. (6+6)

6. (i) qR qfrqr ereq ff qwf Tiqrcq nun€ft +1 fu ff vorqor t srgrEt r

Explain complete transmission
diagram.

(ii) qTgdq zr+{ + 3ilT Fn qqvt t
frlqq r



7 {q deir rftd yon + qdq *-c fi gmqT fifrq I g* eE-ft wt=t.rT H€ fr* q+r+t

*rffi qrfrd I Rttr fr sqfr,T fi qri qrffi qfu *e q-r qft:elq Hrc fu{ 3rmrr A

T{EA ftn qS r+ni B1 qtqifud fiftrq t

Compare dry and wet type of Friction plate. Explain the working of a multi-plate

clutch, with neat diagram. Draw separately cross-sectional diagram of friction plate

used in clutch and name all the elements. (12)

(3 of 4)

ftq q{ dfrq fr ftlq'ft ftTM, (*t$*{)
Write short notes on the following : (Any three)

(i) 6R is ff orrqt+s-dr q sq*rr

Necessity and use of hand brake

(ii) 3F[€5FT r{R deIT WrT t{R I 3Ft$m lTR qffiq HE]{ *IT {uIqlET E- r

Unspmg weight and strung weight. Why unsprung weight is kept

possible ?

(iii) sR + ftd eqq$ qrd a?dr 5ut 5w un
Function of bumper and its main parts for a car.

(iv) qs 3rd#itsunffi+ffid
Functions of a good steering system.
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